Vet

_(§(eN6obl0
_Mechoniced

L |

AS).r:]nmc,g/ Entsilg
i) TE 4 24T 43T S 2o,
2, -T> & Tz 127, }7; — 37, "20
1. 437, 375 -1, 27T, = —(s
3T 4271, -1, — Ty +2 47, 2 -3
37, - T, 2Ty <2Ta #Te 4T, = (g

L T, ‘f.?T:._T 13 —-[7‘, —3'(“__)_7-0.2_2_7

b gk mtin = [

1 » 1 -2 1 3~ 7, 4

> ~1 l 2 -3 1, op
| -~ 3 P ]

N > 2 — 1 - p ( 1., -3

= = 2 LS A w
& 3 | 6 -3 - | T, 27 B
l«_j [ \ ! -2 N 3 -1 qu‘, (q A
L 0@ e atpy 3 30| || be-l)e |
j" | LG s (ka2 -C) 0 a-lh)3 (1) 1, |- 1s-()-o | &
]1 ¢ D0 2oyt 2 ==l ()3 -0 [N |3 :

oo e 2 i O | )
Lu'(q/l)fl 3 (0 - (%) vé-(‘/z)'f ,@J‘%)-} 2-0A | LL] 2-(3)-4

" R Al =
R T T B e RN F‘rz
o 3 s b 75 gt P O I |
ro 2 BUNERICS) ~ 2 (I
0 -3 Q By 3 b e, -2}
0 2 -4 4 ¥ 0 14 i by
o - q -0 ®w 2| | 2, «3 |

Scanned by CamScanner



- (h)-3

b

-3

L - S
—T'S o

s
2-Ch)3 1o (7)5 ERwAY)

—3

=

~$

-3 Ch)3 _4-Ch)-s - 14%0
2-(%)-3

)

2:4 ~lb-y
@D é s
@ ONNE)
6o o

o =g ] o
s 0

0 2y =2

0 4+ (/"«)"f ("4 1§ 8- (Zq)—w 2- (Y e
09- (Bl (L)r (2-(D)ed 03 L)
b . 0(/)’”—10(/9'2 13-l

g
3

~0:1

[

=1
- | (GZMZL)L‘(

=13 (Ch)-s 5 24

-

j
4

12

L r
:

|

L
7,

7

7

N

-1
<3¢

q el

L.l ) |- & ’

(1 ) 44 a:qé(j%‘()':-:

1)

|

; ‘*(’é _‘ |,
26-(B)s 4RO o (r)s - (/gH
a-Ch)sw-(H0 1 c.( s o-fU )

A\ \-2-
.

[

1)

~ I ]
-3C~ (Zv) =l

362 / |
- (20)-u |

Scanned by CamScanner



wde U T S Y | [7, (‘l -

SO i i A o _ 72 (2

ro —2 i e S 'i.‘._q_ ; ’ 15 ~|— ()

0 -7 -0-1 L3 7 ‘ (%

O . (5 () . h - (53).

o e ( 3;1 07 -0%- (.-,. )b»? { s 323~ n) 5
D 0 Ea) oy o w2 |11 Lrer-2)e

4 2.7/ 7"

SRR S Y

Y I i
s -0 -5 ! 1 kK ,
29 "2 - B O Y P -
O 21 -0-F ¢ R . T .
e HL A O I I B
D 0O 11L  -¥s7 ]{ﬂ Lo |
“
-2 | 3 -
0O -5 -
2¢ ~3 ~tu B B
o 11 -03 B T
0 O 40| G-2 '
0 o o WeEher o]

] B S 3= ,[7,_ . ? § -
-3 s o s AN | , -
0 2.4 ~2  —tq '(f S N R ey R
U] 0O 21 01 47 Ly -7 A

O o0 0 o a2 |1 -0-2¢
0o b J 0 -u3| L"e_ Lo

T A o 7..& — ab,-‘,k., ﬂ,&a,a_(“ . o
-3, = g0 92 i

1 v 93 — I S S
6 2,1"“__-’5' = '_0—"'675'

U0 1_a 9.2 2 -~0Q¢

To = 0 7% ~a2%0u) .
_*\M‘N——- - 2.0 /
&0 3 )

Scanned by CamScanner



.,:_]1,'1]«—’0 1% 1o 3 7‘ z =1¢2

| , —16-7 - az(o‘ru)-—ta?—(a o:n) 3927
B e S SAL 7 -

& e e

r> . e = - - - SR
S 9y =277, — u: “l = 1o, -1

—) - ‘ }
’[3 o Y Eo. ‘léb)—fq a(a 30 “2(n ‘52-?)

B

%

2 3019 .

- )—.q
=30, + &l 10, -S1 -l]b =2 |
T2 12260%) ts (203)=5(3:09) = -850 I

-3 ] ] ] £
___.:’.1 + 1’} 173ﬂ_7q 1'3’15 _7} -

B P 172(0 b —3 (2 03()-—3 522+ 2(3.012) +1&3¢( =1-032

F. 1, zlo3n¢
(Y 4 SV
~-.30i172°C
- 1L - 'j.ﬁ")'lu_c_
Y T @2-031°C
1o ==0-744"¢

~
-
)

i

Scanned by CamScanner



